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CCE Means:

1. Child Centered Education

2. Continuous & Comprehensive Evaluation
3. Child Classroom Evaluation

4. Continuous Child Education

CCE o35

L domgd Sol B8y s
QBOBT DI JaergoSS0
TG0 SOHBKQ JoTergoESo

L

QTOSY Z)CS"&Q 20655

“Theory of Generalization” was proposed by
1. Charles Judd

2. W.C. Bagley

3. E.L. Thorndike

4. J.B. Watson
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Persons with the following type of intelligence may be called
as ‘self-smart’.

1. Inter personal intelligence

2 Intra personal intelligence

3. Logical intelligence

4. Natural intelligence
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Cooperative and collaborative learnings are
1 Teacher centered
2 Subject centered
3. Child centered
4

Method centered
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Selection of testing devices and techniques occurs at this phase
of teaching

1.
2.
3.
4.

Pre - active phase
Post active phase
Interactive phase

Technical active phase
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The learning principle which gives importance to motivation is
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Law of Effect
Law of Exercise
Law of Readiness

Law of Perception
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Learners who learn more easily by doing, exploring and
discovering are called

1.
2.
3.
4.

Auditory learners
Oral learners
Visual learners

Bodily Kinesthetic learners
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Reinforcements like compliment, smile, hugs given to the
mentally challenged children are of this type

1.

2.
3.
4

Secondary Reinforcement
Primary Reinforcement
Social Reinforcement

Affectionate Reinforcement
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10.

As per NCF-2005 Teaching Learning Process should be
1. Teacher centered

2. Evaluation centered

3. Student centered

4. Subject centered
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In order to get appreciation from the teacher Raju is doing his
homework. According to Kohlberg’s moral development he is
at this stage.

1. 1% stage
2. 3" stage
3. 2" stage
4. 4t stage
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Identification and Internalization are this characteristics of the
following Psycho sexual developmental stage

1. Phatic stage
2. Genital stage
3. Latency stage
4. Anal stage
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Intrinsic motivation among the following

1. Appreciation of peers

2. Rewards

3. Teachers encouragement
4. Self-satisfaction
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14.

Cognitive structures responsible for organized pattern of

behaviour of a person as per Piaget

1.
2.
3.
4.
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Intuition
Assimilation
Adaptation

Schemata
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Sensory Development is more at this stage

1.
2.
3.
4.

Adolescent age
Infancy

Late childhood
Early childhood
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According to RTE Act 2009, for this age group of children
“Right to Education” is a fundamental right

1 6 to 14 years

2 3 to 14 years

3. 6 to 18 years

4 3 to 18 years
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Characteristic feature of projective tests

1. Natural stimulus
2. Ambiguous stimulus
3. Specific stimulus
4. Conditioned stimulus
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17.

18.

‘Ego’ works on the

1
2
3.
4

Principle of Pleasure
Principle of Reality
Principle of Morality
Principle of Ideals
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Correct statement as per the Chomsky

1.
2.
3.
4.

Children Possess Language Acquisition Device
Language development depends on Reinforcement
Development of Language occurs between 3 - 5 years

Children learn Language by observation
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19.

20.

Parents deliberately ignores a child’s temper tantrum in an
attempt to discourage it. Here parents strategy is in accordance

with
1.
2.
3.
4.

Extinction
Reinforcement
Generalization

Discrimination
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Bobo dall experiment is related to

1.
2.
3.
4.

Insightful Learning
Observational Learning
Conditional Learning

Trial and Error Learning
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Ramani wants to play with her friends, but afraid that her new
clothes will get dirty. Her conflict here is

1. Avoidance and Avoidance

2. Approach and Approach

3. Double Approach and Avoidance

4. Approach and Avoidance
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The following method is used very often in the assessment of
personality

1. Questionnaire
2 Observation
3. Interview

4 Rating Scales
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24.

The feeling that the things which we are seeing now are
already seen before is called

1. Ilusion
2. Deja Vu
3. Hallucination

4. Zygarnic effect
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Learning theory that suggests the usage of Problem Solving
Method, Project Method, Experimental Method in teaching
learning process

1. Instrumental conditioning

2. Trial and Error learning

3. Insightful learning

4. Classical conditioning
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Main motive behind the provision of mid-day meal to children
1. To increase percentage of student attendance

2. To satisfy the primary needs

3. To motivate the children to attend school

4. To develop unity in children
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The symbol which is used before typing the formula in
MS-Excel
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28.

Thurston “Primary mental abilities test” is prepared based on

this theory

1. Group factor theory

2. Multi factor theory

3. Two factor theory

4. Theory of structure of intellect
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Metacognition means understanding of

1. One’s own thought process
2. One’s own personality

3. One’s own abilities

4. One’s own self concept
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29.

30.

Questions that measures recognition ability
1.

N

3.
4.

Essay questions

Short answer questions
Matching questions
Fill up the blanks

K080 F ST £9I ©He

1.

2
3.
4

THOTTD (DYoo
ORI (D)0
238 DOT (SFHeo

geden

Memory unit is a part of

1.
2.
3.
4.

Input unit
Output unit
Control unit

Central processing unit

20308 05005 BIS® 2k g0

1.

Lol

3R A5eS
OIS ASrAeS
5ol¢S°S aHeES
OIS |FTRVOR ASameES



31.

32.

Y00 IBFZ00 . CIFSSI0 Cipéﬁxéo@s:éoo. 3550
z:oCSoe)CS (TP, §°aaéé§ aaog;i)oéocﬁo ‘ééosdsﬁoom 656&;533

R SOORIBE. HITSEODD T FSR) VOSYEND.
DS DOWADIN VA, D STAWE

R Ne5508° oegrd) Sisonss EIS® Femyeh

1. 208X

2 DODE

3 o)

4 (D800

SaT 00w, 008}) VEESEO LrEe wAirgs S 308 Koty DK ©
Qo S 088 3T, I oy MOS8’ AR 88D ». 308
DOSEY SNy mE Fawo $HOVOTIW. I X0y DeoHw)
DB )T, B2, K2y)eEd DoEH0Eers oo
STETEE. 2200) ToEAE YT B Toene SN &otd.

R Ke5508° erdasren K580:508.
1L %80, §°58

2 336233533&, QOLOB0E

3. oo, Fheo

4 VeoHand, orewe §°58d



33.

34.

35.

e3c§°€60) §5°3053;55°>e§;530

TOEE INT@ S SOEN,
Fbs'é’sdamca 508302885
BEOSKOTE $50¥ HOBIED LS|
2 0 STTOM SOFINIH D (PSP A0 JoI Seor>@aw
1. OGAS 08 BEIL0G §F)TE

2 5 SHI0OK B0V

3. SOg S

4 eﬁgonJSiD ISyl

E05000 e eNSC

KSoorR 588 55005 FoAS

835530 €550 e CSioo)éc

55 Q(goen BT e SEEd 28!

E0UPYE S
1. J°A0Y)
2. WO
3. RReti\ey
4. lel(ables

RB23e0, VOT°Y 2°eH© K807 S0 0708 &°O Jsanes
1. SESHSHEDINE Nals

Doae IS

SlelavistueRornbAl(alopN)

W

NSlelnal>E zs?isg)c‘éc*’;@



36.

37.

38.

39.

“FIBOERI8 Yo DXYErede I°0 DORBX), eSPOKD
BONEO” B FYO &ZFO

L rS*Hen
2 ey
3. 653650)3&

4 FOSoe0)

‘w0 T0E BoK BSB)S0" Hs BES wthYoero
L %S - 23

2. RS -16
3. RS -30
4. DS -18

S0EE 0Fe30 FOAS (H|das
1. a;océs°;5§o

2 E1e)
3. TRooo
4

§°;5§o

DeSSR 90ES eﬁgo
1. 55508° 56

2. fovidx)
3. FA 23;23
4, 2YefeYitor)



40. 5 DEIHHOBOS” IO WAL,
B3 T5508° (805 Jdes0’

1. 5

2. DBKID030
3. 3353&&1?"

4. DRI

41. Z)§°)e§oe>€63 [ E°C° 90837
1. (BEgSsTe
2 BB\
3. Z.)§e7°o)e>o
4 95652)3"03

42,  “3257, “DS0” Horen :acgoﬁa:acroam EORS Do

1. @68350
2 :fAlele)
3. SKBo
4 202250

43. R0’ D8 @5950)9_595%0

1. DEETEO D Y0 KoaeD.
RS S50 BISTD.
P08 BenXBEo0 .

Lol

WZLITOFTTR) TS B,



44,

45.

46.

47.

“08830” HDordd I
1. DEI30, 56O

2. 3 Y858, B5:550
3. QOPO, oG
4, &Y, 30

BAFAH0E - AR bo;@a Ba PEDH &

1 2°)

2 §°23)85°0%
3 SO0
4 DIVD0L

“SE) BSHoz” &3 ©Y0 ;5{33 2P DA300
1L 3% 385805

2. é@é&@é&g
3. e&b;in%
4. TF), 05

“Qard, 5850 vz ¥8 Fen, Bdergen”
B3 T550S" &slr o KHYoS0E.

1. o0, O, 0, §
0, S, ©,8
&3, 8,9, F

(v

3 D D, I°

W



48.

49.

50.

Yo" B3 DI DEY

1.

Ll

Q08
@562)@&5
D
58

“RHDBHY” JaeA8 3@?3"5‘%50

1.

Ll

(DD BHDHY
(EDHH IS BHY
2HH FTH BHY
(20D BS LY

208 JS° RO BSDEDS TSege0?

.

€3,

3.

!—\

Ll

S5 VOGHNE, WEFHY - HOdI0E I°E0

S22 e (E°R, AETFo0d - DoBY 7550

©dS Fred IWE), A0 - VoY IS0
IO DFAS EdTFRoT - VOgR TESO
%, 3

S, 3

®, e3

3, 53



51.

52.

53.

54.

“DePtd” - B %8505 vod

1. EDTPRDD0E

2. BHESE08
3. KSSSTTI0H
4 aEHod

‘S (2 oo Spd NEIF) I9Bey” e S vOSTO

1. SN

2. a@y

3. SIS
4, ©8¥@>E

SBOJ° TOE KDY, &8 ©d0Y SOAS Kex0
1. %

A

Ll

0

JPEFHBANET0OK DERTID ISTTHSKE 908,
J0HS” Yo KO S

L 5asod® D50 o)

2. PEHeod” Do e

3. DERE0S” 30653 eisy)

4, NN :gyocgszacsoese 006563 959)



55.

56.

57.

“Cﬁosi)é, 2R 935380 00210850 &0e08” €9 é;ﬁagoﬁ

XSG 0
1. YP° S0
2. &oh - zoh 0

3.
4.

[ANaL RV IAle

PRI

;sg;ssooes’s BB :)ézg;sag;s:sssoess TED ST
BXI0, WAOS 0o STBED Ity I8)0S HES

1.

L

eﬁéci ‘JJCQSe‘B
53)5"56 DS
[en]
DE DD
[on]

J°§5 DEH
[on]

“PETOS Teth DRI DI w4 eSO
BRYBFTD” &N SHYEITY) BIYS ITegHoT R0
Q [N}

1.

> LN

sHS

B, Goew)
VoIV
NUINVINY



58.

59.

60.

GO ITTHES FYeTY) DOFOBOBEE,
O WSS FHew DOIEIE GFB0DIO

1. ‘o/DCSaSO

2 Kcﬁago

3. 380

4 GIIWVEO

SERASE BPHoIEIE FEES SPOSE’, FYHSToS”
ROPPYDS e T 0 SOA0T W B0 ErFoBoNS wersrd)
DS0ETP0

1. 8S°Azo
EQRIICN
&S

~wN

“a

GPTPNETP e

AR T IAC0E HES S0FDHRE SEYE 5G9
L &% dxser 5°5S

2. s 5GS

3. &dasE 56

4 J"séds'a AN



61.

62.

63.

64.

Identify the grammatically correct sentence.

1.

2.
3.
4

We enjoy to go for walk after dinner.
We enjoy going for a walk after dinner.
We enjoy go for walk after dinner.

We enjoy to going for walking after dinner.

When using the ‘be’ form of verbs, the verb should agree with

the

and of the subject.

Choose the option that best fits the blank.

1.

2.
3.
4

time, place
gender, tense
person, gender

number, person

Choose the term for the study of hereditary and genes:

1.

2
3.
4

Pathology
Genetics
Anatomy
Sociology

The following sentence is an example of a request:

b=

you close the window?
Will
Should
Might

Can



65.

66.

67.

68.

Choose the correctly capitalized acronym:

1. nasa

2. NASA
3. NaSa
4 nAsA

The following is NOT a recommended practice for writing
natural dialogue:

1. Using contractions and informal language

2 Creating dialogues that sounds like real speech
3. Writing long monologues for each character.

4 Including interruptions and overlaps.

Choose the sentence that is in the past perfect tense:

1. She had completed her assignment before the deadline.
2 They are going to the park.

3. We will arrive soon.

4 I am reading a book.

Identify the correct structure for a question in the simple future
tense:

1. Does + Subject + Verb?

2. Is + Subject + Verb + ing?

3. Did + Subject + Verb

4 Will + Subject + base form of the verb?



69.

70.

71.

72.

The following is an exclamatory sentence:
1. Where did you find this?

2 This is my favourite movie.

3. I can’t believe it!
4

Please take a seat.

She finished her homework early.

Identify the sentence that correctly converts the simple
sentence above into a complex sentence:

1. As she finished her homework early she could watch
TV.

2. Because she finished her homework early, she watched
TV.

She finished her homework early and she watched TV.
4. She finished her homework early and watched TV.

Choose the sentence that contains a subordinate clause:

1. She smiled and waved.

2. I want to go, but I can’t.

3. He runs faster than I do.

4. The car which I bought is red.

She missed the bus. , she was late for the meeting.
Choose the option that fits the blank.

1. In summary

2 Therefore
3. Likewise
4 Whereas



73.

74.

75.

76.

Choose the correct sequence of the words in which they occur

in a dictionary.

1.

ii.

iii.

b=

bring
bright
brief
believe

i, 1, 1ii, iv
iii, ii, 1, iv
1v, 1ii, ii, 1
iv, 1, ii, 1ii

Choose the correct spelling of the word.

1.

2.
3.
4

Choose the example where the indefinite article is used in

mistical
mystical
mysticle

misticle

expressions of price, speed, ratio etc...

1.

2.
3.
4

1.

2
3.
4

A train was on the platform
I ordered a thousand sheets of paper.
A rupee a dozen

Such a pity!

a few mistakes, the essay was excellent.

Choose the correct preposition that fits the blank.

Aside from
In view of
Inside of

In addition to



77.

78.

79.

80.

There has been no storm, no thunder, just the steady swish of a
tropical down pour.

Choose the synonym that means ‘steady’.

1. intermittent
2 inconsistent
3. ignore

4 constant

Let me begin by asking you to guess the name of the
monument that I found most inspiring.

Choose the antonym of the word ‘inspiring’.
1. heartening
2 unexciting
3. stimulating
4

motivating

Choose the correct indirect form of:
He said, “I can do it.”

1. He said that he can do it.

2. He said that he could done it.
3. He said that he could do it.
4

He said that he can done it.

Choose the meaning of the phrasal verb ‘run out of”.
1. to completely deplete the supply of something
2 to overflow all options

3. to save or conserve
4

to extinguish a fire



1.

82.

83.

I don’t want you to pay for me. I’ll pay
Choose the option that fits the blank.

1.

2.
3.
4

for me
for myself
myselves

to myself

Choose the sentence that uses an adjective correctly

1.

2
3.
4

She sings beautiful.
He runs fastly
The sun is shining brightly

The quick brown fox jumps over the lazy dog

Read the following passage

Sports in India range from traditional to modern. Cricket is a
national obsession, with matches drawing massive crowds and
fervent support. Field hockey has a storied history, with India
winning several Olympic medals. Traditional sports like
kabaddi and kho-kho are also popular, showcasing India’s rich
sporting heritage and community spirit.

Cricket is considered in India.

Choose the option that fits the blank.

1.

2.
3.
4

Niche sport
National obsession
minor interest

recent trend
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85.

86.

87.

Read the following passage

Sports in India range from traditional to modern. Cricket is a
national obsession, with matches drawing massive crowds and
fervent support. Field hockey has a storied history, with India
winning several Olympic medals. Traditional sports like
kabaddi and kho-kho are also popular, showcasing India’s rich
sporting heritage and community spirit.

Identify the traditional sports mentioned in the passage:
1. Football and Tennis

2. Kabaddi and Kho-Kho

3. Baseball and Basket ball

4 Volleyball and Badminton

Identify the phase of listening that involves creating meaning:
1. Pre-listening

2 While-listening

3. Post-listening
4

Auto-listening

Identify the reading type used for getting the general idea and
organisation of a text.

1. Copy reading
2 Proof reading
3. Scanning
4

Skimming

Choose the best option that fits the blank.

A refers to a set of procedures and plans for
teaching a language
1. method

2 technique
3. approach
4 strategy



88.
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90.

Choose the best option that fits the blank:

Communicative Language Teaching (CLT) priorities
communication in language learning.

1. written

2. visual

3. meaningful
4. grammatical

Identify a major problem of teaching English in India.

1. Small class sizes

2 Suitable teaching methods

3. Overcrowed classes

4 Adequate school environments

Identify the learning outcome that represents a desired
condition in English language teaching.

1. Writing incoherent pieces

2 Developing aesthetic sensibility and appreciation
3. Avoiding creative expression

4 Ignoring language abilities.
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If the perimetre of an equilateral triangle is %cm then the side

of the triangle is (in cm)
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1.

2
2
2. 1
2
1
2

Identify the correct statement

1. All rectangles are squares

2. All kites are Rhombuses

3. All squares are not parallelograms
4. All parallelograms are trapeziums
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95.

) 1.
The value of an expression 3x(3x+5)—3 when x= 3 1S

x=% ©00S 3x(3x+5)—3 HITRI Bk, e

1 -3

2 0

3. 2

4 3

The median of data 5, 3,1, 7,9, 11, 13, 10 is
B&rodsn 5, 3, 1, 7, 9, 11, 13, 10 &oo¥), ;5JC5§7§e§o

1. 9
2. 8
3. 7
4. 5

A TV was bought at a price of ¥20000. After 1 year, the value
of the TV was depreciated by 5%. The value of the TV after 1
year is (in Rs.)

2.& 80238 T20000% £:520808. 2.8 ROSBYBO SoS T
e 5% SHod. 90N 2.¥ ROSBYTO ST BOIxS Jens
(&r.08%)

l. 19500
2. 19000
3. 18000
4. 18500



96.

97.

98.

Radius and height of a cylinder are 7cm and 14cm
respectively. Then the total surface area of a cylinder is

(Use = 2—72) (in cm?)

FHPEO 7R00.20, &) 14 0. Fosennr Ko 3o B,

ROYPB JTe50 (7:= 2—72 w @m?mm) (300.2. ©F°)

84
924
864
98

b=

a’+ab—6b)+(a—2b)=

3a—-b
3a+b

WD ==

The number which always divides the product of three
consecutive positive integers is

e SR GBS Y, Hopge 0er) JYIPE 2RO os
4

1

2 5
3. 6
4 7



99.

100.

101.

The area of a Rhombus is 2024 cm” and one of the diagonals is
46cm then length of the other diagonal is (in cm)

2.5 0°020 PFR0 2024 S0 DO TR SFZ0e” o8
TR P& 46 0.2 @OS Bo&S 5Po FEY (0.0, of°)

1. 44
2. 88
3. 46
4. 42

A man bought a second hand fan for ¥560 and made repairs
with ¥40. He sold it to ¥660. His profit percent is

25 58 2.8 1S PGS B60S FD U0S® 505538
BooB3. @A T660 & @ZJJ&E% e8I F°¢50

1. 10

2. 102
7

3. 62
3

4. 7L
7

The earth has 135,30,00,000 cubic km of sea water. The
number in exponential form is

PP Ko DSy A 135,30,00,000 S 88" estsy,
B3 D0Pg rE08 ErHEnS’

1. 1353x10°

2 13.53x10’
3. 1.353x10°
4 1.353x10°



102.

103.

Im+ lcm +1mm =

1. 111mm

2. 101 Imm

3. 1111mm

4, 1011cm

10 + 10.20 +10.0 =
1. 111202

2 10112020

3. 11110.

4 101120.20

A pie chart consists of 3 sectors X, Y and Z. The Central angle
of sector Z is 80°. Then the total central angle of sectors X

and Y is

2.8 S0P DGoS’ 3 dTWen X, Y 5865 Z 0> SOA
&00. ©oHE” BT Z &), SoldowH 5%0 80° wans
DTEH X 2B Y B 0080 SolBah §ea0

1. 100°
2. 150°
3. 220°
4. 280°



. . 1 1
104. Simplify 8——2—
implify 8- 3

sl 2l nsog&gaoso&.
4 3

o sd
12
2. el
12
3. sd
6
4. el
6

105. 1lkgllg + 11g =
118, 110w + 110w =

1 11

2 1001

3. 101

4 11011

106. Simplest form of —% is

~ 2 Son, (ures aro

110
. -2
11
2. 2
11
3. 2
5
4. 2
5



107.

108.

109.

Number of edges of a cube is

2.8 D050 6:‘>oo§b €900 30&35

1. 9
2. 10
3. 12
4, 14
4? 2 =6-— 243 then the value of “7’ is
4t:2 =6— 20+ 3 9008 “f’ DS
L 2¥
10
. X
10
3, 2B
10
.
10
10% of 250 + 8% of 40 =

2508° 10% + 40S° 8% =

1 30
2 28.2
3. 32
4 30.2



110. Ifa =05’ then ...

a="b’®9ons ..

1. a=b
1

2. a5=\/Z;
1

3 al=b

4. Ib=a

111. Complementary angle of 45° is 3K. Then K =
45° &wy) YJosse0 3 K eons K=

1. 15°
2. 30°
3. 45°
4. 90°

112. Numbers 1 to 10 are written on ten separate slips (one number
on one slip), kept in a box and mixed well. One slip is chosen
from the box without looking into it. The probability of getting
a number which is less than 5 is

3t 3 D3 13008 10 589 Sopged o (285, V&
2.5 2095) c‘éZJ"’z)GSG 32 ZenddIeom. SISO 2.8 53
HH2E08. 0B @8 5 oS S I Doy (OIS NCLUN

L2
5
. L
2
3, 2
5
4. 1
5



(4+4+4+4)+4

13,
3+3+3+3

. 2

3

., B

7

;3,0 B3

3

4, 2

7

114. Circumference of circular disc of radius 14cm is (in cm)
(r=2)
-7
147300.00. FGFLO Ko SHTE HT0 &), 908
(230.% ©&) (7z=2—72)
1 88
2. 44
3. 77
4 56



115. Teacher’s role in Heuristic Method
a. Creates situations for problem solving
b. Takes total initiative to solve the problem
C. Should ask thought provoking questions
d. Give directions for studying the problem and solving it
(Ed DEAS® &I TrgE0d IS
8. 0IRVg PEIH BAS HOJBen ¥Dyord
b R F$SS® o, TS Sy d
c. 298 eSS T30 (HYHe» Ia-d
™M

d. DIV @EIAHIO BHEeE, JHoBEI SAS

Joeassen BASTd).
1. a,b,c
2. a,c,d
3. b, c,d
4. a,b,d

116. According to the Activity method, “Using the Abacus for
counting” is related to

1. Mental activity

2. Physical activity

3. Direct experience

4. Technical activity

)85 DD (95750, ‘WerERS &IBrAoD T 0w5E0’ SO
1. NI ING

T°OY K)B8g0

(DY eodso

e N

JoIDE Y850



117.

118.

For calculation of ‘324 x 7’ the best item in Mathematics kit

1.
2.
3.
4.

Beaded frame
Domino cards
Solid rods

Napier strips

324 X7’ KeaSS Kedes HES® &0d &S PR

1.

L

RO W0
=DS® S0
TS §é®o

Ina0E Zaeée:o

Prabha, a 5" class student compares the numbers using the

symbols >, <, =. Here, the academic standard achieved is

1.
2.
3.
4.

Problem solving
Reasoning - proof
Expressing

Connection

D% &S 535 SEKS DGO DOPFO FNEAS >, <, = Jo8
HEOD EIBTROBEC (0" 08 ATYPITe0 FHoBW&OB.

1.

W N

26;5331’5 S
STETR0 TH)E0 - ATHeIen oo
;5§_§° DTS00

€9 0NVOFPS0



119.

120.

Study the following and identify the correct statements.

a. Evaluation is ‘Process oriented’
b. Assessment is ‘Product oriented’
C. Evaluation is ‘Product oriented’
d. Assessment is ‘Process oriented’

1808 A D8O, KBS (PITT D K80S0s.
a. Sermgo8N0 @3 HEHY &BFoTESE’
b. 5080 938 DO c%é%oiieo&é&’
c. Srerego8Ho @30 OGS &BFoTDEIE’
d 500 &30 PEHD &BFoSDESE’

1. a, b
2. c,d
3. b, d
4. a, d

Which one of the following statements does not belong to the
characteristics of instructional objectives?

1. They are written in full sentence
2. They contain content part only
3. They are pre-determined

4. They are achievable

300 (PISTS” 288 57> oFge ogETeD 3osdd.
@8 d0?

L o Yf FEErnos’ cabasaron.
FAS® IADV020HS grKo SEDH Goenod.

©d Y8 IT0orw

~wN

090 PHODSAS



121.

122.

Which of the following letters do not suffer lateral inversion

o8 5 D 5o HE AEDHeD SHITD BBKED

1.

2.
3.
4

V,B,C
H,0,T
P,E, T
D, LM

Poles of bar magnet are located at

1
2.
3.
4

The two ends of the bar magnet
The centre of the bar magnet

Uniformly distributed throughout the bar magnet

One at the end, another one at centre of bar magnet

nfelefer Stuplel o) BT g & &0eTom.

1.

Ll

(508 @0 08y BOL VI

$50EaHI, 08 HreErKod”

0EAT)0B0 I0PO DIFSON® FIHOW GOETA)
258 S0EATI 08 D58 wrKod, HEES S35



123.  The colour of phenolphthalein indictor in acidic medium is

1. Pink

2. Red

3. Colourless
4. Orange

&35\ T5808° HTHOS ¥rDE B0
1. o)

2 K

3. TOK> &0&ed

4 5808

124. In case of destructive earthquake, the magnitude on the Richter
Scale would be

1. 3

2. 5

3. 5.5

4. above 7

DEHORTY BTEONO H0FIoNSYE 86 e P ASS

L. 3

2. 5

3. 55

4. 7 508 )5



125. Study the statements and choose the correct option.
Harish : Pole star does not seem to be moving.

Suresh : Pole star situated in the direction of the earth’s axis.

1. Harish is correct, Suresh is incorrect.
2. Harish is incorrect, Suresh is correct.
3. Both Harish and Suresh are correct.

4. Both Harish and Suresh are incorrect.

(BELSe0 S8 $JS 2NTR) JoHE 0k,
TER O)S SES0 SchendoR)em EIB0EE.
ROR G)S SEEo 2 0 HIS® Goeod.

1. SO TDYIB D20, VIV THYIB Jz0 5°¢.
2. ORI BRSO Jzmo 5o, B IWYSO deso.
3. O3 8050 WBA 3E BN deo.

4. O $H8050 WBR g BRYSO o soes.

126. The plants that develop branches at the base of the stem and
having a hard but not very thick stems are

1. Shrubs
2. Herbs

3. Trees

4. Creepers

SP0ER) 9K gTPIeS §°;5o&e>‘63 EOAS, 0803w Kee?gm &oé,
S00B0T® GO 30850 BOAS 3oo§zre:o

1. S0

2. Kogr en

3. DT

4. T IvE



127.

128.

The “biological Nitrogen fixers” are

a) Arbo virus b) Fungi

c) Rhizobium bacteria d) Blue green algae
1. aandb

2. bandc

3. candd

4, a,b,candd
“BS JEBY TS DOSRED

a) o) IS b)  8do(ssw
c) BED0 wriBST d) DO esmB) Fsore

1. aS08aw b

2. b 083w ¢
3. c 08w d
4. a, b, c Hdasw d

Respiration is a catabolic process because it involves

1. Break down of complex food molecules
2. Synthesis of chemical energy

3. Conversion of light energy

4. Energy storage occurs

FHOEAD 28 DS oIS 0’

1. éog’g e33558 ENIPO0 DER LT 0.
2. SIOHS ¥§ HD0FR0TEES08.

3. 508 3§ Sortd) BothErod.

4. 48 Doy BoSeEod .



129. The seeds with spongy outer coat are dispersed through

130.

1. Air

2. Water

3. Animal

4. Bursting

)0 S08 ST EIS0 Ko ISTen, B ao T
BDOLDSOX.

1. d

2.

3. O

4.  Heo&o

This should not be followed to make our home ecofriendly

1.
2.
3.
4.

Switch off lights and fans when leaving room
Grow kitchen garden
Use kitchen waste as manure

Drop the dry waste and wet waste in one dust bin

T oA HorgSSeRSON” RO50EE JedoeS KD e90¥0

1.

KO $r08 2205085 IAWTIPE s, g
3230570

5063083 S oHd
503083 ;55%@:63 ABIHEVI® J°red
SEDED, P& BED 2.8 TYwoyS® oo



131.

132.

The person who fought for liberation and rehabilitation of
“Safai Karmacharis” is

1.

2.
3.
4.

Vinobha Bhave

Kamaladevi Chatopadhyaya
M.S. Subbalakshmi

Bezawada Wilson

Do 858” (8 D7) o 8 G Dok
D30 SO0 YSCaR0 EDYouSEIS Sy RN 358

1.

L

ANRALIFALR

ST S PRy
D0.d2. o)
BaIE DO

Farmers put up these to keep away birds from pecking the

grains

1. Nets

2. Scare crows
3. Lights

4, Fences
PP TEGY Aoz BIHOT GoEErdS Pdew Feod’
53 D&

1. SISV

2. &%25";53 PRV
3. 3365355 Been
4. goden



133.

134.

The Indian State that does not share boundary with
Bangladesh

1. Mizoram
2. Tripura
3. Sikkim

4. West Bengal
z:ozg;égese RIctelat DOHEED 283 olbele

1. W& oro

2. (@9

3. 280

4. yHBors

The founder of Sayyid dynasty was
1. Mubarak shah

2. Khizr Khan

3. Muhammad Shah

4. Balban

RORgE SOFTHHE

1. S20LTEPRP
eSS
353:7"&553’

Ll

zr@e)(’é_



135. Identify the correct statements associated with Magadha
Kingdom

The first king of Magadha was Bimbisara

The Magadha Kingdom was extended from the
North — Western part of India to odisha during
Mahapadmananda’s period

C. Iron-ore deposits were in the North part of Magadha
d. Elephants were captured from the forests and trained for
fighting in the war

NG 072308 002000 OGS F°S°GO™D KHYOB0s.
a. NG orergdS o over - DoAI T

b. I ITOLD 008 K OrEg0 TA00SE0 o0é
2630 ST IJBoV08.

DK 0oEgd &85 oS0’ gD pde
JZTen &0Gd

d o590 $H0& IDIHOK HRE choged” Fordkerds
>33 B5er T,

1. a,b,c
2. b, c,d
3. a,b,d
4. a,b,c,d



136. During the British period, a person who can read, write and
teach Persian in India was called

1. Munshi
2. Qazi
3. Fauji
4. Aurang

O3 78 5°008° arESBIS” HGHY WA SESKO,
oo, S°RoKe S8 ger DOV

L S0
2. ar:sé
3. &

4, 50K

137.  The 11" one of the sustainable Development goals is
Clean water and Sanitation
Good Health and well being

Sustainable cities and communities

A .

Gender equality
RPoHSY oFged” 1150

L D0HETDS A 58050 FBHESGO
2. 00D es850 $HB0 F00

3. R0RIS SKoren $HBAH BIrEreo
4.

doX é;SJ%Se.ESo



138. Siddavatam fort is located on the bank of
1 River Krishna
2 River Penna
3. River Godavari
4. River Vamsadhara
RESe0 5 B3 58 2.8 S0

1. §°)ig‘6&

2. 33525&

3. Aorsd

4, S0FTE I8

139. The famous environmental activist “Greta Thunberg” belongs
to this country

l. Norway
2. Finland
3. Denmark
4. Sweden

(©S00p DoSTer SEEY Ter 6 2§ B3 BT TodS

1. SN

2. dwro&
3. a8,
4. ?oogég



140.

141.

The Article representing Local self-Government in Indian
constitution is

1. Article 36

2. Article 40

3. Article 44

4, Article 51

Aol mwsoxoé@:’o B2 Q5T LIS DO OI®

QP08

1. 3856 36
[h]

2. e385S 40
[h]

3. 3856 44
[h]

4. 3856 51
[h]

Identify the mismatched pair of foreign travellers who visited
during the Vijayanagara kingdom

1.
2.
3.
4.

Ibn Battuta — Harihara - [
Abdul Razzaq — Devaraya - 11
Fernando Nuniz —Harihara - 11

Domingo Paes — Sri Krishna Devaraya

DBALSKY C°mS0F T08° HoLSRHONS IBE ATBHeD
B020801) BB BB K800k,

1.

Lol

22T - OIS - |
eﬂaacgg Se§ - BSoean - 11
P& assoagz)é - 585es - 11
EPORT DS - @%%8;5@05303



142. The largest producer of high grade iron-ore in the world is

1. Bolivia

2. Brazil

3. Chile

4. Columbia

($90508° TeaBT WD THIHH VHEOF &E)E
BT B0

L SO

2. ®as

3. 2O

4.  Eoodosr



143.

Identify the correct statements regarding the Mahajanapadas

a.

Those who were captured in wars and sold to farmers
were called ‘Dasas’.

Agriculture was managed by land owners -called
‘Gahapatis’ or Grihapats

The workers who worked for wages at fields and homes
were called ‘Vesara’

The ‘Bhaga’ was a part of the Cultivated crop given to
the king

DTFRIDTOKH H020ROD HJS IO HYOOs.

a.

b.

b=

S0ToS’ 22083 BEHo® 00y FoNSTH e’
SEEI090 B FrAHEITOD HITDY Bor HyTHd’
9 o

570 H:FD Fod’, oS HITD FEDH IT0

09 DOTIE

B0&S HoS” Terd §F) o8 grrR WK

a,b,c

b, c,d

a,b,d

a,b,c,d



144. Identify the market which is not part of the physical market
based on Geographical location

1. Local markets

2. Neighbourhood markets

3. Regional markets

4. International markets

FRDE U0 o, T8 5570, H0HE°E o°d
$5°8), €555 Ko8o<s0d

1. %’X)§ S5°0), e

FEHOITT) 6

(Froda% 57T) e

Ll

©90e5TPHA ;SrBzrew
[ ™

145. In the Bloom’s taxonomy of educational goals, hierarchy of
goals in affective domain is based on this principle

1. Coordination

2. Easy to complex
3. Naturalization

4. Inner development

zaﬁiu AR ;5&;5\§693e3’6 TS SoKoS D OO
eSS (B3 Be (B0 D GTERGOB.

1. b;ﬁoéosow§68'ao
VEFS 008 D08
[ep M)

D880

Ll

€908 ;SQ)Q



146. The teacher asked the student to prepare a pamphlet on
conservation of water resources. It belongs to this Academic

standard.

1. Information skills, projects

2. Appreciation, values, Biodiversity, Real life application
3. Experiments and field visits

4. Drawing and model making

GITREA00E A SHHO DOTFE P 2.8 SEIGR) SO
BALIH ITFROH WFIOTE. 38 J T (H5er3
BOAIA.

L J5roed D88, (B 9
(©¥0F, JenSen, 23 FAFS50, Jzz IS IIB>Ko
PEBrres S0 F& H08oses

L

56 FYE0 BA T ST

147. The book of 150 pictures for early childhood Education
“The World of Science Objects” was published by

1. Desiderius Erasmus

2. Jean Jacques Rousseau
3. Montessori

4. John Amos Comenius

“The World of Science Objects” &3 150 DS°0S° 5526
DIF) ereg Faw Ioegergdo 00 (HHB0DS I8
1. BDROAHD EISEIS

2. A 28 3P
3. ;Sroéii‘ba
4. 2 e300 EWAHD



148.

149.

Identify the skill that does not come under Expressive skills

1.
2.
3.
4.

Dramatization
Guidance
Recitation

Narration

e (808 TS &ergasnd SEEsse veresTE od
SVETG) GoS0s.

1.

Lol

¢8558
;55°§\5656g§e§°3o
DBS0

E&HS0

Identify the graphs which are used to understand the results of
a school over the past five years.

1.
2.
3.
4.

Flow chart

Bar Graphs
Venn Graphs
Pictorial Graphs

2.8 TS K 5 éoéé&meéﬁ PO o &TET
BooE ST &ISBrR0T (TR K80508.

1.

Lol

(@ T8
e

w8 (rHen

3 [T

DS (TR



150. A learning process that facilitates problem solving in a
fictional scene is

1. Dramatisation
2. Simulation
3. Panel discussion

4. Workshop

508 DYDF0S” V5w DO 07 EHEOOD
LAY W&o

1. ¢8558

2 DETE?
3. >S5
4

965%2‘1)60



